== A
N = 0 & AF S 99 N A
20168 = 20 A LB H AlRIASA!
SN ANASA
M ASHHH
CHRl: AlBIAS (e H)
- - _ L=
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
ASIASEA 7,799,880 7,604,582 195,298
AEHHPH 20,000 43,000 A 23,000
ABIAS 20,000 43,000 A 23,000
ABIAS A2 20,000 43,000 A 23,000
201 2Et2Hy| 12,000 35,000 A 23,000
01 AP 2t 2] H| 12,000 15,000 A 3,000
OANBIAE & HUHEALAS (YA RES9)
6,000,000 *23| 12,000
203 € R F=&d| 8,000 8,000 0
03 AIEH =X H 2 F XY 8,000 8,000 0
OZZXe g2z 3,000
OAMBIAE AHAL =&l 5,000
A S0 2T 2| 262,209 262,209 0
MEOIR M ALY 262,209 262,209 0
12081 A SAL 24 12,000 12,000 0
201 et 9| 12,000 12,000 0
01 AP 2t 2| bl 2,000 12,000 A 10,000
OXO0Jts &Y I =H|
100, 000& 10 x23| 2,000
02 =224 H| 10,000 0 10,000
O ZBAMNU SIxE KXl 10,000
OPDt= EEHOA 250,209 250,209 0
101 Q124 H] 18,049 18,049 0
04 JI2ZtHIZ22NEE S 18,049 18,049 0
Ol dE 2 101, 740& 23 60 12,209
o= 89,970& 60 5,399
OptH oI AT & NE8E
17,607,000 *2 .5% 441
202 o4 | 5,000 5,000 0
01 2Ll 5,000 5,000 0
OXIAIALE, &0tDl= XA =& 5,000
206 M = dl 25,000 25,000 0
01 X2 4| 25,000 25,000 0
Oz0tIte &A™ e 24 M2 (308) 25,000
301 et A= 2,160 2,160 0
11 JIEtE A2 2,160 2,160 0
OX0Jt=s s SAMA 25 B2
5,000& x3H 60 900




SN ANASA
Hu: MBI
Sl MBOIA HMelAtY (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OO Baod SAK A0
7,000& x3E 603 1,260
401 Al HIZ 201 I 200,000 200,000 0
01 A& HI 198,560 198,560 0
OMEUA HelAr 200,000,000& *99.28% 198,560
03 Al S THHI 1,440 1,440 0
OMERIA XMl At 200,000,000& *0.72% 1,440
IRl = 7,410,426 7,200,258 210,168
XSO At 2 el 7,410,426 7,200,258 210,168
AAEF=2AAL 22 (XA 5,785,000 5,892,258 A 107,258
401 AIEHI L 2] 4,363,000 4,578,758 A 215,758
01 A& HI 4,316,818 4,531,250 A 214,432
283 220,594
2, 2222 FHISA
9,000,000& *98.92% 8,903
HE, HEOY HUIBA
13,000, 000& *98.92% 12,860
Faotd ZHISA 9,000,000& *98.92% 8,903
ZEotze ZHIS A 20,000,000& *98.92% 19,784
Mgs otZ ZHISA
20,000,000& *98.92% 19,784
SH4S o2 FHITA
20,000,000& *98.92% 19,784
=& ot FZHISA 10,000, 000& *98.92% 9,892
SO0t =2 HHIS At 13,000,000 *98.92% 12,860
a0t THEZEZS A 20,000,000 *98.92% 19,784
garord THEZZ AF 18,000,000 %98.92% 17,806
dserZd MEZZES AL 15,000,000 *98.92% 14,838
JtEotd THEEZ AL 13,000,000 *98.92% 12,860
™ot THEZEZ AL 10,000,000 *98.92% 9,892
AtEot2 THEZEZ AL 15,000,000 *98.92% 14,838
stalord THEZZ S A 18,000,000 *98.92% 17,806
O=F=&d 133,542
gEot2 ZHISA 15,000, 000& *98.92% 14,838
sgotd ZHISA 15,000, 0002 *98.92% 14,838
S0t ZUISA 15,000, 000& *98.92% 14,838
a0t ZHISA 15,000, 000& *98.92% 14,838
LHorerz ZHlZS At 15,000,000 *98.92% 14,838
s|eotd HUIS A 15,000, 000& *98.92% 14,838
S&ti=2 ZFHIS At 15,000,000 *98.92% 14,838
S2 MYZ HHISAM
10,000, 0002 *98.92% 9,892
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L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
et=ot2 FHIZS A 10,000, 0002 *98.92% 9,892
etz ZHIS A 10,000, 000& *98.92% 9,892

O=X¢ 153,327
Mgotd A=Z Al 25,000,000& *98.92% 24,730
A=0tS =2 FHISA

15,000, 000& *98.92% 14,838
EOHOIS otz FHHISA

10,000, 000& *98.92% 9,892
NEDH FHEHIZA

20,000,000& *98.92% 19,784
S 20t2 =2 FHISAM

10,000, 000& *98.92% 9,892
TS =2 ZHISA

15,000, 000& *98.92% 14,838
20t otz HUISA

20,000,000& *98.92% 19,784
I8 =2 HUISA

12,000,000& *98.92% 11,871
SEOS otz FHISA

28,000,000& *98.92% 27,698

OssH 24,730
Hz otz ZUISA 15,000, 000& *98.92% 14,838
S=0t2 ZHISA 10,000, 000& *98.92% 9,892

OFdd 88,042
s =2 ZHI3A

11,000,000 *98.92% 10,882
2= =2 Fdl3A 5,000,000& x98.92% 4,946
CHXIerz ZHIZS At 5,000,000 x98.92% 4,946
S ator T AL 14,000,000& *98.92% 13,849
S0 2FXE SHEXUSA

18,000, 000& *98.92% 17,806
Me =2 EHIS At 4,000,000 *98.92% 3,957
ZECHY ZHIA 16,000, 000& *98.92% 15,828
a4 2 ZZIAM 4,000,000 x98.92% 3,957
fsot ZHIA 12,000,000& *98.92% 11,871

OF=PNR= 131,564

A0S ot ZEEBA

20,000,000& *98.92% 19,784
HE BH=2 ZHIZSA

18,000, 000& *98.92% 17,806
UM ALISBE HEBA

20,000,000& *98.92% 19,784
US OIS ZEI3A

20,000,000& *98.92% 19,784
ST 022 AETA

20,000,000& *98.92% 19,784




Sk

X{ XH -
S =

£
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DO EARY 2t el

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
ZEM ot SIHSA
20,000, 000& *98.92% 19,784
WOl ot=2et2 HBlI 3 A
15,000, 000& *98.92% 14,838
O&H 88,041
=02 28 U3 A
15,000, 0002 x98.92% 14,838
StCHXIOFS ot HH| 3 Ak
23,000, 000& *98.92% 22,752
AP AGHE HH|IS AL
18,000, 000 *x98.92% 17,806
SZE0S MNAUZ OIA2EEHZA
21,000, 000& *98.92% 20,774
SAMDIS BAZ L FLEIIA
12,000, 000 x98.92% 11,871
OfatH 126,621
SAL BHZ Hil=2 HHI S A
32,000,000 *98.92% 31,655
A b= HHIS A
16,000, 000& *98.92% 15,828
A=02 =2 Y3 A
16,000, 000& *x98.92% 15,828
S80S =2 JHl3A
9,000, 000& *98.92% 8,903
E0HHIH ot HH| 2 Al
19,000, 000& *x98.92% 18,795
AEQOIS ot HHIS AL
12,000, 0003 *x98.92% 11,871
=202 ot2 HH| S AL
24,000, 000& *98.92% 23,741
OAHOHH 129,587
Olgt ot A Z AL 20,000, 000& *98.92% 19,784
ZEQS N2 HHIZBAH
23,000, 000& *98.92% 22,752
HAatDEES o2 THIZ & 3 A
12,000, 0003 *x98.92% 11,871
NES0tS U2 OFA2THEEZ AL
20,000, 000& *98.92% 19,784
MNEZ0I2 ot=7 I 3A
20,000, 000& *98.92% 19,784
EZ0IS o2 OFA2MEZEZ2 A
18,000, 000& *98.92% 17,806
220IS ot OFAE2MEZEZ2 A
18,000, 000& *98.92% 17,806
OEdH 118,706
A0S oA Bl S A
9,000,000& *98.92% 8,903
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Zaf: X2l
chel: Xl = f

SA - BB B () - MM - BES Ol &t o San HmEET
23 OS2 HEZESAM
18,000, 000& *98.92% 17,806
28 T2YH =2 JHISA
24,000,000& *98.92% 23,741
FHEOSY HUISA
24,000,000& *98.92% 23,741
SE Otsot HHEE S A
18,000, 000& *98.92% 17,806
I 02t MEEZA
12,000, 000& *98.92% 11,871
=& 0tSetz FUISA
15,000, 000& *98.92% 14,838
OE&H 148,380
SH et OtAZEEHIA
20,000,000& *98.92% 19,784
CE ot A EEHIA
20,000,000& *98.92% 19,784
ME X2 SZHIA
20,000,000& *98.92% 19,784
ots ot =2 S At
20,000,000& *98.92% 19,784
e SHZE ZTSAM
20,000,000& *98.92% 19,784
OHE Hi=Z 3 Al 20,000,000& *98.92% 19,784
a4 =23 At 10,000, 0002 *98.92% 9,892
A= 2 ZHI3AL 20,000,000 98.92% 19,784
Oousd 109,802
AZ tE 2 B3A
20,000,000& *98.92% 19,784
Az et Ul ZA 10,000, 000& *98.92% 9,892
=S 0t 2EHSA
20,000,000& *98.92% 19,784
Al OtHOISZ 23 At
20,000,000 *98.92% 19,784
M 2 ZHISA 10,000, 000& *98.92% 9,892
ABA AT DEBLTA
15,000, 000& *98.92% 14,838
CHE ADIEH==2 HHISAH
16,000, 000& *98.92% 15,828
008 145,415
s oSt ZEHIA
13,000, 0002 *98.92% 12,860
&2 st ZHIA
13,000, 0002 *98.92% 12,860
HE ot ZHISA 13,000, 000& *98.92% 12,860
TS o2 FHISA 13,000, 0002 *98.92% 12,860
HE a2 L oY FHUIZA
10,000, 0002 *98.92% 9,892
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Chelr XISIN AL 22l (&)
SA - BB B () - MM - BES Ol &t o San HmEET

ZE ot FHISA 13,000, 0002 *98.92% 12,860
Qs HAUZ OLAZEZEZ A

20,000,000& *98.92% 19,784
g8 ot ZHEIA 15,000, 000& *98.92% 14,838
MW= etz FHISA 13,000, 0002 *98.92% 12,860
el r=etd MHEEHSA

14,000,000& x98.92% 13,849
s A== 2 ZZEHSA

10,000, 0002 *98.92% 9,892

ooEd 181,030

FEOS ZEEZESA

15,000, 000& *98.92% 14,838
T30S 2 FHISAM

14,000,000& *98.92% 13,849
SR0S AFLEXSA

16,000,000& *98.92% 15,828
SZ0tS JtEd g X3 At

8,000, 000& %98.92% 7,914
SU0tES AFEXSA

16,000,000& *98.92% 15,828
SANS ZHEZIT A

12,000,000& *98.92% 11,871
HSO0tS ZEEZESA

8,000, 000& %98.92% 7,914
=20 BEEZESAM

25,000,000& *98.92% 24,730
elENtS td FHISA

4,000,000& %98.92% 3,957
2302 o042 FHHIZA

6,000,000& *98.92% 5,936
H40tsS ot ZHISA

25,000,000& *98.92% 24,730
20t etz HHISA

12,000,000& *98.92% 11,871
AEOS o2 ZHISA

11,000,000& *98.92% 10,882
OIS otd FHISAM

11,000,000& *98.92% 10,882

ootgd 106,838

g0t o2 FHIZSA

8,000, 000& *98.92% 7,914
SHOtS ot ZH I A

6,000,000& *98.92% 5,936
Lhelots 2 ZE I A

12,000, 0002 *98.92% 11,871
TX0tS et EEHEZA

12,000, 000& *98.92% 11,871




fAMN: ANASA
A NEHY

el XA 2e]

18,000,000 =98.
10,000,000 *98.

7,000, 000& *98.
18,000,000 *98.

30,000,000 =98.

=2 ZHIBMAXT)
36,000,000 «98.

20,000,000 =98.

=2 FHIBMOXT)
20,000,000 =98.

=2 FHIBMAXT)
40,000, 000& *98.

=2 FHIBMXT)
20,000,000 =98.

=2 ZHIBAM(2KF)
15,000, 000& x98.

S AL 20,000,0003 *98.

18,000,000 *98.

o2 HHIB A

20,000,000 =98.

S
IS
2
=
K]
P

30,000,000 =98.

A THEH AXC EXSA
8,000,000 *98.

SEE EF7IHISEAM

15,000, 000& x98.

S22 EFEHISAM

17,000, 000& x98.

422 BS0Y EIIA

2 olAF A

Ol & HHIS A

2,000,000% +98.

15,000,000 *98.
a|

92%
92%

92%
92%

.92%

.92%

92%

92%

92%

92%

92%

92%

92%
92%

92%

92%

92%

92%

92%

92%

.92%

92%

92%

17,806
9,892

6,925
17,806

9,892

6,925
216,636

29,676

35,612

19,784

19,784

39,568

19,784

14,838
19,784

17,806
49,460

19,784

29,676
68,257

7,914

14,838

16,817

14,838

1,979
71,223

=

i
2




FMANUALASA
M NS
Chelr XISIN AL 22l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
L 4E FRUHEH SFFHSA
0,000,000& *98.92% 19,784
S AGtE FHISA
20,000,000& *98.92% 19,784
MEDES FYEZE FHISAM
32,000,000& *98.92% 31,655
o3s 101,888
tgEZ ZBHISA 30,000,000& *98.92% 29,676
2,78 OtA2 MHEFE S A
43,000, 000& %98.92% 42,536
98 SJIEAl otZ OLAZMHEE S At
20,000,000& *98.92% 19,784
14E EHE YANDA =Y 0T A
XIS At 10,000, 000& *98.92% 9,892
OF=F3= 87,050
2H68 MEOIS et2 Ul ZA
20,000,000& *98.92% 19,784
2E7E o2 HEEZ A
18,000, 0002 *98.92% 17,806
2FBE AFHOES AYZ FHSMIXTR)
30,000,000& *98.92% 29,676
2E10E AN=SH2 HEHZA
20,000,000& *98.92% 19,784
OstnsE 133,545
48 OtE27H FHIAS
19,000, 000& *98.92% 18,795
5& Dt2otd OtAZEZE I A
8,000, 000& %98.92% 7,914
65 022t OtAZEZE I A
9,000,000& *98.92% 8,903
78 Ottt OtAZEEIA
15,000, 000& *98.92% 14,838
198 0t=2td OtAZEZE S AL
10,000, 000& *98.92% 9,892
228 Ot=0otd OtAZEZEZ AL
20,000,000& *98.92% 19,784
238 Ot OtAZEZEZ AL
12,000,000& *98.92% 11,871
258 Ot20otd OtAZEE S AL
,000, 000& *98.92% 8,903
25& 252 ZHIS A 9,000,000& *98.92% 8,903
275 AXOIS SHEXBA
16,000, 000& *98.92% 15,828
28 9Y FHUH0l XL EZEFIA
8,000, 000& *98.92% 7,914
OLEs 178,056
2= otZ FHISAM 10,000, 000& *98.92% 9,892
AlE ot FHIZSAE 40,000,000 *98.92% 39,568
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fAMN: ANASA
A NEHY
el XA 2e]

SA - ZE-B(EN) - NRAY - B S il &t o il
01 A& HI 883,360

O=28 M& == &XI 16,000,000& x98.92% 15,828
Oo2s &= =2 &EHdl 10,000,000& *98.92% 9,892
Oo=2s(gXs.49) dgzg =&

25,000,000& *98.92% 24,730
OFd &z X2 FU(FH 744-32 1K)

15,000, 000& *98.92% 14,838
O=F& ot E &3 tZF|

30,000,000& *98.92% 29,676
O3 3302 Yz &2 E (57(2l610)

20,000,000& *98.92% 19,784
OFd 3302 MYz XL FH(5(2l611-6)

30,000,000& *98.92% 29,676
O=F& 25 =2 FHl 15,000,000& x98.92% 14,838
O=X W==302 otz i

20,000,000& *98.92% 19,784
O%X MY Ot2 oL H|

20,000,000& *98.92% 19,784
O=X ¢E0t2 g8 =4

10,000, 0002 *98.92% 9,892
Oss ME OIS &2 Z1E

50,000,000& *98.92% 49,460
O=Fd BI&0S =2 &l

15,000, 0002 *98.92% 14,838
OFM BENS 28 =4

10,000, 000& *98.92% 9,892
Oz=Al MM OtEet2 Jtedg &X

10,000, 000& *98.92% 9,892
O=2X AXots -2 ZHl

15,000, 000& *98.92% 14,838
O=2X &a JE0S o2 HHl

15,000, 0002 *98.92% 14,838
Oz=A 238 180t &€ &l

5,000, 000& x98.92% 4,946
O=2X g8 & =4 10,000, 000& *98.92% 9,892
Oz =302 & &l

20,000,000& *98.92% 19,784
Otz HIEXN ot &1 &l

10,000, 000& *98.92% 9,892
OAMO =& L2 ZFSA

15,000, 000& *98.92% 14,838
OY E40tE2 sS4 Fl

8,000, 000& %98.92% 7,914
OZ ALZ20tS s¢ Y2 W4

15,000, 000& *98.92% 14,838
OZ =zt ZEIA

10,000, 000& *98.92% 9,892
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